Problem set 2

Monday, October 12, 2015 4:54 PM

1. @ Frove that or ony fn’tea()er n one ond e,mc{-l% one.

of the numbers n and ned 15 even.
() Prove that Por any t‘n%eger n,
nn+i) s even.
(Hit . For @ use the result that coe f?roveO[ in Class :
For any fvrl:cgcr‘ m, m is odd i and only P m=2krl
for some. inbeger .
For ©, we ot ®.)
2. Frove thit 201 x—9Y =2 hos no m-hzaer Solutions .

B . Prove ‘H\A‘“ -izor Omg ?osi‘l'fve, rcal humbers ‘X,‘é,Z

\(rxﬁ\,ﬁzl S Aegrz
S - I\

(You are allowed +o use whabever is proved in class)

H Determine £ the ‘{)—o”ow\'ng shitements are true or not .
Justify your anseer.
@ TFor ony ngers m ond n,

Slm = &|m Vv €|n.




Qo) For any \'n‘{'egars M and N ;
Llm v 6ln = &|mn.
) For anv) \’nftgcrs m ond N,
S‘rnn = 3Im v 3|n
(tor (Par‘l? © Yu are aloced o use the f-oliocofn%:
For O\nca I'vdEser' n, S/I'Vl = for some in‘{‘e%er k, n= Kk:‘_'j_>
5. Let d be an irfl'e%er‘ more than 1, and o ,a,, bl , and b,
are in"zﬁers. Swm:ose d & —G and dlbl—bg_.
Prove that d | (a,+b) = (az+b)) -
and d | ab —ab, .
( Hint . For the second ?ar“l' use

a‘l:‘— azbz: @‘_QL\ b\ ¥ Qz(bl-bﬂ - )



